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1973-1978 Monthly Daily
Thermoregulator (high quality habitat)
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1978-1983 Monthly Daily
Thermoregulator (high quality habitat)
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1983-1988 Monthly
Thermoregulator (high quality habitat)
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1988-1993 Monthly Daily
Thermoconformer (0% shade)
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1988-1993 Monthly Daily
Thermoregulator (high quality habitat)
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1993-1998 Monthly Daily
Thermoconformer (0% shade)
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1993-1998 Monthly Daily
Thermoregulator (high quality habitat)
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1998-2003 Monthly Daily
Thermoconformer (0% shade)
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1998-2003 Monthly

Daily

Thermoregulator (high quality habitat)
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